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Alphabet questions exercise for IBPS Clerk
Pre and SBI Clerk Pre exams

ALPHABET TEST QUIZ 6

Directions: Read the following questions carefully and choose the right
answer.

1. How many pairs of letters are there in the word
‘COMMUNICATION’ which have as many letters between them
in the word as in alphabetical series?

A. Only one B. Three C. Five
D. More than five E. None of these

2. How many meaning full English words can be formed using
the second, third, fifth and seventh letters of the word ‘KITCHEN’
using each letter once in each word?

A. Only one B. Two C. Three
D. Four E. None of these

3. How many pairs of letters are there in the word
‘MICROSCOPE’ which have as many letters between them in the
word as in alphabetical series?

A. Only one B. More than three C. Two

D. Five E. None of these

4. If the letters in the word 'CREATION' are rearranged as they
appear in the English alphabet then the position of how many
letters will remain unchanged after the rearrangement?

A. Two B. One C. Three




D. None E. Four

5. If it is possible to make to make only one meaningful word
with the first, the third, the fifth and the ninth letters of the
word 'FRAGRANCE', which of the following will be second letter
of the word? If no such word can be made, give 'Y' as the
answer and if more than one such words can be made give 'Z' as

the answer.
A. A B.Y C.Z
D.E E.R

6. How many pairs of letters are there in the word
‘ABBREVIATION’ which have as many letters between them in
the word as in alphabetical series?

A. Three B. Five C. Six
D. Seven E. None of these

7. How many pairs of letters are there in the word
‘BEAUTIFYING’ which have as many letters between them in the
word as in alphabetical series?

A. Only one B. Two C. Three
D. Four E. None of these

8. How many pairs of letters are there in the word
‘DEMONETISATION’ which have as many letters between them
in the word as in alphabetical series?

A. None B. Six C. Seven

D. More than seven E. None of these




9. If the letters in the word ‘MOTHERLAND’ rearranged as they
appear in the English alphabet then the position of how many
letter will remain unchanged after the rearrangement?

A. Only one B. Two C. None

D. Three E. None of these

10. If it is possible to make only one meaningful word with the
first, the third, the fifth and the eight letters of the word
‘MAXIMIZATION’, which of the following will be the second
letter of the word? If no such word can be made, give 'Y' as the
answer and if more than one such word can be made, give 'Z' as
the answer.

A M B. X C.A

D.Y E.Z




Correct answers:

1/2(3|/4(5|6|7|8 10
bjc/|B|C|C|D/D|A|D

(Vo)

Explanations:

C ) M M U N I C A T I o) N

3 15 13 13 | 21 | 14 9 3 20 9 15 14

[ER

Possible Pairs:

C o) M M u N I
3 15 13 13 21 14 9

13 13 21 14 9 3 1 20

0) N
15 14
N I C A T I

14 9 3 1 20 9

13 13 21 14 9

And,
0] M M
15 13 13

Hence, the correct answer is option D.

2.

Second, third, fifth and seventh letters of the word are |, T, H and N respectively.




The words formed from the letters = Hint and Thin
Hence, two words can be formed from the given letters above.
Hence, the correct answer is option C.

3.

Following the given explanation below, we can say that there are four such pairs
are possible in the given word ‘MICROSCOPE’.

Hence, the correct answer is option B.

The given word:

M I C R ) S C ) P E
13 9 3 18 15 19 3 15 16 5

The possible pairs:

15 16

And,

19 3 15 16




4.

The given letter

CREATION

After arranging the letters of the given word as they appear in the English
alphabet, we have:

ACEINORT

Only 'E' remains at the same position after rearrangement.

Hence, option 'B' is the correct choice.

5.

The given word

F R A
1st 2nd 3rd 4th 5th 6th 7th 8th 9th

The first, the third, the fifth and the ninth letters of the above given the word are

F,A R E

while rearranging these letters only once, two meaningful words can be formed —
FARE, FEAR.

Thus, option 'C' is the right answer.

6.

The given word:

A B B R E Vv I A T I 0) N
1 2 2 19 5 22 9 1 20 9 15 14




Possible Pairs:

A B
1 2
B B R E
2 2 19 5
A B B R E
1 2 2 19 5
B B R E Vv I A T I
2 2 19 5 22 9 1 20 9
| A T | 0] N
9 1 20 9 15 14
And,
N 0
15 14
7.
The given word:
B E A u T I F Y I N G
2 5 1 21 20 9 6 25 9 14 7
Possible Pairs:
E A u T I
5 1 21 20 9
U T I F Y
21 20 9 6 25
I N G
9 14 7




And,

V) T

21 20

Hence, the correct answer is option D.

8.

The given word:

E M 0] N T I S A T 0] N
5 13 15 14 20 9 19 1 20 15 14
Possible Pairs:
D E
4 5
M ) N E T I S
13 15 14 5 20 9 19
N E T | S A T
14 5 20 9 19 1 20
) N
15 14
S T I ) N
19 20 9 15 14
S A T | O
19 1 20 9 15
E T | S A
5 20 15 19 1

And,




15 14

Hence, option D is correct.

9.
The given letter:
MOTHERLAND

After, arranging the letters of the given word as they appear in the English
alphabet, we have:

ADEHLMNORT

Observing the above arrangement, we can clearly see that its H whose position
remain unchanged.

Hence, the correct answer is option A.

10.

The given word:

M A X I M I Z A T | ) N

1st an 3rd 4th 5th 6th 7th 8th 9th 1Oth 11th 12th

The first, the third, the fifth and the eight letters of the given word above, we
have:

M, X, Mand A
Here, from the above letter we cannot make any word which is meaningful.

Hence, the correct answer is option D.
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